THE CARBON FOOTPRINT OF A PAIR OF JEANS

During its manufacturing
process an equivalent of
13 kilos of carbon dioxide

are released into the environment.
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Its manufacture process involves
the use of something more than

2,000 litres of water. 10 litres of chemical

products and dyes
are used in the 3
manufacturing process.
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The rinses result
in the use of over
1,000 litres of water.

Apart from the electricity
used for drying and ironing.

The degradation process of the
cotton, if it ends up in a landfill, can
take up to 5 months

and polyester, up to 200 anos.

Source: Ellen MacArthur Foundation, Environment and Energy Control Agency in France.
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